Task: BAR ’33(

Salad Bar rrorpieda

Traning Camp, , Day 1. Source file bar.* Available memory: 128 MB. 6.07.2015

Bytea went to a salad bar. There are n fruits one next to another on the bar counter. Specifically, these are
apples and oranges. Bytea can pick any contiguous part of the line of fruits for her salad.

The fruits she chooses will be added to the salad either from left to right or from right to left. As Bytea loves
oranges, she requires that throughout the salad making process, the number of oranges in it should always be
no smaller than the number of apples, regardless of whether these are added from left to right or from right to
left. Help Bytea out by writing a program that will find the longest contiguous part of the line of fruits that
satisfies her requirements.

Input

The first line of the standard input contains a single positive integer n denoting the number of fruits. The
next line contains a string of n characters ajas . ..a, (a; € {j,p}). These stand for Polish names of apples and
oranges: jablka and pomararnicze. Consequently, if a; = j, then the i-th fruit in a line is an apple, and otherwise
it is an orange.

Output

The first and only line of the standard output should contain a single integer equal to the number of fruits in
the longest contiguous part of the line that satisfies Bytea’s requirements. Note that it could be the case that
0 is the correct result.

Example

For the input data: the correct result is:
6 4

JPippPj

Explanation: Once the leftmost and the rightmost apples are discarded, Bytea can order a salad out of all
remaining fruits.

Grading
Subtask | Conditions Points
1 n < 1000 20
2 n < 10000 30
3 n < 1000000 50
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